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F—L4 EBSTYS | HiBHBTFC| M1tk sc| N\ EFFC|mEELRISC| YNFvA—X| b | 91 | AlF |Bba | B84 | k&8 |BkE| B

EBS7YS |wawas| 6 -3 | 4 -2 1 -4|3-24-0| 4 0 1| 12 | 18 | 11| 7 2

FiBHHTFC 3 -6 \wawayh) 0 -2 1 0-9 | 0-7]3-2 1 0 4 3 6 26 | —20 5

PMzafqybsC | 2 - 4 | 2 — 0 wawaw| 0 - 4 | 2 - 1 3 -2 3 0 2 9 9 11 -2 4

RI\EFFC 4 -1 9 -0 |4 -0 |vwwwarh 1 -3 |10 -0 4 0 1 12 28 4 24 1

HEELRJSC| 2 -3 | 7 -0 |1 -2 |3 -1 wawarw| 7 -0 3 0 2 9 20 6 14 3

YNFYH—X 0-4|2-3|2-3]0-10]0-7 |wawwrkl 0 0 5 0 4 27 -23 6

[BFEAENDER] BhE=B5:3. 24:1. 81F:0
F—L4 E3IJFC |FC SEISEKI| &#&E4&sc| KFIHSC |[/NEQ/INFC|YNFvh—X| Bb | &l | AlF | Bbm| B8 | k8 |BkE| G

E3IJFC gy | 1 - 4 | 1 - 4 | 0 -5 1 -0 1 -2 1 0 4 3 4 15 -1 5

FC SEISEKI 4 — 1 |wNE@aR) 2 -2 | 1 - 1 6 -0 1 -1 2 3 0 9 14 5 9 3

ERMELESC [ 4 - 1 2 - 2 |waEsaTw 2 -0 | 6 - 1 0 -1 3 1 1 10 14 5 9 2
X#ESC 5-01]1-1 0 - 2 \wawaowr| 0 - 2 1 -3 1 1 3 4 7 8 -1 4
INEQINFC 0 -1 0 -6 1 -6 | 2 -0 |waarh| 0 - 2 1 0 4 3 3 15 -12 6

YNFyH—X 2 -1 1 -1 1-01]3 -1 2 — 0 |wasvars| 4 1 0 13 9 3 6 1




